20204 3H A Zl HASF=ZIH| SIHRI=

A2 T HA=H 844 3oy A ol HFHE)
2020-03-03 [X| G of|= 2l nto| ZHE 3| Aty XYo=&l 2 8 180,000
2020-03-05|X| < of| =2l ZtE 3| ATy XYo=& 2l 2 3 26,000
2020-03-05|X| 0| = Qlate| ZHEt 3| ATy (XYo=& 2l 2 3 24,000
2020-03-06 |X| ¥ O =2l ZtE 3| AT (S AR 2 4 40,000
2020-03-09|3 ¢ A Kt ZHEF T AT (S HEAKXL 2| 4 77,000
2020-03-10|&H ZHA Xt ZHES] ATy XYo=& 2l 2 3 27,000
2020-03-10(X| G 0of|= 2l nto| ZHE 3| ALY XYo=&l 2 2 18,000
2020-03-11|X| A2 Qlato| ZHE!3| ATy [X|YRIEQ 2 3 34,000
2020-03-12|X|<¥ O = Q! ZtE 3 ATy (XY 0f=2l 2 3 51,000
2020-03-12 | H| 2 A Kteto| ZHE 3|  [E2AIYE & ATy [SHZA X 2 5 90,000
2020-03-13|X| 0| =2l ate| ZHE 3| ATy (XY of=2l 2 3 =0t 27,000
2020-03-14 |X| G 0f| = 2l ato| ZtE 3| ATy | X[o= 2l 2 3 HEFO 52,000
2020-03-14|X| Q0| = 2l ate| ZHE 3| ATy (XY of=2l 2 3 C| Q+7 | 44,100
2020-03-16 | X| G 0f|= 2l 0to| ZtE 3| ATy |X[o= 2l 2 3 SEf 43,000
2020-03-18|X| H0j|= Q1 nto| ZHEHT] ALY | X[Yoj=2l 2 2 O|0| FotAl 17,500
2020-03-18|X| 0| =2l ate| ZtE | ATy (XYoo=l 2 2 O=2ay 11,400
2020-03-18 | X| G2t A X} ZHE | AT (X S2A XL 2| 2 = AR 18,000
2020-03-18|X| Qo= 2l atef ZtE | ATy (XYoo=l 2 2 HotAIE 24,000
2020-03-19| XL A Z 0l ato| ZHEt3| AT (X[ RIEQ 2 2 A LAIEX 28,000
2020-03-20 | = H| 2 A Kteto| ZHE! = ATy (SHEA KX 2 3 CHYMAAH 43,000
2020-03-21 | K| G2t A X} ZHE =] AT (XIS 2A KL 2| 2 A LAIEX 23,000
2020-03-21|X| 0| =2l atel ZtE 3| ATy XYo=& 2l 2 3 0]z @ F30f 27,000
2020-03-23 [X| A Xt ZHEFS] ALY | K[ 2HA X} 2 3 HEFOE 27,000
2020-03-24|X| G 0j &0l ZtE3| ATy XYo=& 2l 2 2 ojo|gst 17,000
2020-03-24 | X| 0| =2l ate| ZHE 3| ATy (XY of=2l 2 7 S &= 174,000
2020-03-25 | X| H 2t A Xt 2t E 2| ALy | K| 2A X} 2 4 31,000
2020-03-25|X| o) = 2l ate| 7HE 3 ATy (X[Yof=2l 2 2 20,000
2020-03-26 |X| H 0| =0l ZHE 3| AT XYo=& 2l 2 3 57,000
2020-03-27 | X| o= 2l ate| ZHEt 3| Al | X|GoEQl 2 4 84,000
2020-03-28|X| Q0| =2l ate| ZtE | ATy (XYoo=l 2 11 243,000
2020-03-30(X| G0l =0l 7HEf =] Aty XYo=&l 2 2 14,000
2020-03-31|X| 0=l ZtE3| ATy (X|Yof=2l 2 Zixz|otC| e 45,000
EA(32%) 1,637,000




